
Tina has $6 with her. She wants
to buy 3 coffee mugs for her
teacher. Each mug cost $2.50.
How much money is she short of?

4 slices of pizza cost $8.00.
Fries cost $2.50 each. How much
does one slice of pizza with fries
cost? 

If 3 pounds of tomatoes cost
$12.00. what would be the cost
of one pound of tomatoes?

A bottle of orange juice costs
$3.50 and a bottle of grape
juice costs $2.50. If Mike has
$11 with him. How many bottles
of each type can Mike buy?

Name: 

Solve the word problems given below.

 Currency


